Hacet. J. Math. Stat. Volume XX (x) (XXXX), 1-7 DOI: 10.15672/hujms.xx

RESEARCH ARTICLE

On the constant $C_{NJ}^{(p)}(X)$ for the generalized Banaś-Frączek space

Haiying Li*1, Xiangrun Yang², Changsen Yang³

^{1,2,3}School of Mathematics and Statistics, Henan Normal University, Xinxiang 453007

Abstract

In this paper, we study the generalized von Neumann-Jordan constant $C_{NJ}^{(p)}(X)$ for the generalized Banaś-Frączek space and improve related results on the Banaś-Frączek space. The exact value of $C_{NJ}^{(p)}(X)$ will be calculated for X to be the generalized Banaś-Frączek space \mathbb{R}^2_{a,b,p_1} in the case $p\geq 2$ such that $p_1\geq p\geq 2$ or $p\geq p_1\geq 1$.

Mathematics Subject Classification (2020). 46B20

Keywords. generalized Banaś-Frączek space, Banaś-Frączek space, generalized von Neumann-Jordan constant, von Neumann-Jordan constant

1. Introduction

The geometric constants have received widespread attention, for the reason that it can essentially reflect the geometric properties of a space. Recall that the von Neumann-Jordan constant $C_{NJ}(X)$ of a Banach space X was introduced by Clarkson [2] as the smallest constant C for which

$$\frac{1}{C} \le \frac{\|x+y\|^2 + \|x-y\|^2}{2(\|x\|^2 + \|y\|^2)} \le C$$

holds for all $x, y \in X$ with $||x||^2 + ||y||^2 \neq 0$. Several studies on the constant $C_{NJ}(X)$ have been conducted by many authors (see, for example, [1, 4–13, 18, 19]), and they play an important role in the geometric theory of Banach spaces. Therefore the calculation of geometric constants for some concrete spaces is very important.

Recently, a generalized form of this constant was introduced as follows (see [3])

$$C_{NJ}^{(p)}(X) = \sup \left\{ \frac{\|x+y\|^p + \|x-y\|^p}{2^{p-1} \left(\|x\|^p + \|y\|^p \right)} : \quad x,y \in X, (x,y) \neq (0.0) \right\},$$

where $p \geqslant 1$.

Now let us collect some properties of this constant (see [3, 14–16, 20, 21]).

Email addresses: lihaiying@htu.edu.cn (H. Li), doss65130206@163.com (X. Yang), yangchangsen0991@sina.com (C. Yang)

Received: 19.10.2023; Accepted: 06.03.2025

^{*}Corresponding Author.

- (i) $1 \leqslant C_{N,I}^{(p)}(X) \leqslant 2$;
- (ii) X is uniformly non-square if and only if $C_{NJ}^{(p)}(x) < 2$.
- (iii) Let $r \in (1,2]$ and $\frac{1}{r} + \frac{1}{r'} = 1$. Then for $X = L_r[0.1]$, we have

$$C_{NJ}^{(p)}(L_r[0,1]) = \begin{cases} 2^{2-p}, & 1 \leq p \leq r; \\ 2^{\frac{p}{r}-p+1}, & r$$

- (iv) If $p \geq 2$, then $C_{NJ}^{(p)}(X) \leqslant J(X)$. (v) For the regular octagon space X, we have
- (a) If $p \ge 2$, then $C_{NJ}^{(p)}(X) = 1 + (\sqrt{2} 1)^p$;
- (b) If $1 , then <math>C_{NJ}^{(p)}(X) = 2^{2-p} \left[1 + (\sqrt{2} 1)^{\frac{p}{p-1}} \right]^{p-1}$.

Recently, C. Yang et al. introduced the Banaś-Fraczek space $X_{\lambda,p}$ in [17], i.e., \mathbb{R}^2 endowed with the norm

$$||(x,y)||_{\lambda,p} = \max\{\lambda|x|, ||(x,y)||_p\},\$$

where $\lambda > 1$ and $p \ge 1$. In [17], they showed that if $p \ge 2$ and $(\lambda^p - 1)^{p-2}(\lambda^2 - 1)^p \ge 1$, $_{
m then}$

$$C_{NJ}(X_{\lambda,p}) = 1 + (1 - \frac{1}{\lambda^p})^{\frac{2}{p}}.$$

Also, Mitani and Stito and Takahashi introduced generalized Banaś-Frączek space $\mathbb{R}^2_{a,b,p}$ which is \mathbb{R}^2 endowed with the norm

$$||(x,y)|| = \max\{a|x|, b|y|, ||(x,y)||_p\}.$$

And for a > 1 and $a \ge b \ge 1$ with $a^{-p} + b^{-p} > 1$, they consider the $C_{NJ}(X)$ for this space in [8,9] as follows:

(i) If $p \ge 2$ and $b \le a(a^p - 1)^{\frac{p-2}{2p}}$, then

$$C_{NJ}(\mathbb{R}^2_{a,b,p}) = 1 + b^2 (1 - a^{-p})^{\frac{2}{p}}.$$
 (1.1)

(ii) If $p \ge 2$ and $b \ge a(a^p - 1)^{\frac{p-2}{2p}}$, then

$$C_{NJ}(\mathbb{R}^2_{a,b,p}) = b^2 \left(1 + \left(\frac{b}{a}\right)^{\frac{2p}{2-p}} \right)^{1-\frac{2}{p}}.$$
 (1.2)

(iii) If $1 \le p < 2$ and $a^{\frac{2p}{p-2}} + b^{\frac{2p}{p-2}} \le 1$, then

$$C_{NJ}(\mathbb{R}^2_{a,b,p}) = 1 + b^2 (1 - a^{-p})^{\frac{2}{p}}.$$
 (1.3)

In this paper, we consider the constant $C_{NJ}^{(p)}(X)$ for the generalized Banaś-Frączek space and obtain the following results:

- (1) For a > 1, $a \ge b \ge 1$ and $p_1 \ge p \ge 2$ with $a^{-p_1} + b^{-p_1} > 1$. (i) If $b \le a(a^{p_1} 1)^{\frac{p_1 p}{pp_1}}$, then

$$C_{NJ}^{(p)}(\mathbb{R}^2_{a,b,p_1}) = 1 + b^p (1 - a^{-p_1})^{\frac{p}{p_1}}.$$

(ii) If $b \ge a(a^{p_1} - 1)^{\frac{p_1 - p}{pp_1}}$, then

$$C_{NJ}^{(p)}(\mathbb{R}_{a,b,p_1}^2) = b^p \left(1 + \left(\frac{b}{a}\right)^{\frac{pp_1}{p-p_1}}\right)^{1-\frac{p}{p_1}}.$$

(2) For a > 1, $a \ge b \ge 1$, $p \ge 2$ and $p \ge p_1 \ge 1$ with $a^{-p_1} + b^{-p_1} > 1$. If $a^{\frac{pp_1}{p_1 - p}} + b^{\frac{pp_1}{p_1 - p}} \le 1$, then $C_{N,I}^{(p)}(\mathbb{R}^2_{a,b,p_1}) = 1 + b^p (1 - a^{-p_1})^{\frac{p}{p_1}}.$

2. Main results

Recall that the norm $||\cdot||$ on \mathbb{R}^2 is said to be absolute if ||(x,y)|| = ||(|x|,|y|)|| for each $(x,y) \in \mathbb{R}^2$. Before describing the main results, we give some lemmas.

Lemma 2.1. Let $p \geq 2$ and $\|\cdot\|$, $\|\cdot\|_{\sim}$ be two absolute norms on \mathbb{R}^2 satisfying the following conditions:

- $(i)\ \|\ddot{u}+v\|_{\sim}^{p}+\|u-v\|_{\sim}^{p}\leq 2^{p-1}(\|u\|_{\sim}^{p}+\|v\|_{\sim}^{p})\ for\ any\ u,v\in\mathbb{R}^{2}.$
- (ii) $||(x,y)||_{\sim}^p = ||(x,0)||_{\sim}^p + ||(0,y)||_{\sim}^p$ for any $x, y \in \mathbb{R}$.
- (iii) $||(x,y)|| \le ||(x,y)||_{\sim}$ for any $x, y \in \mathbb{R}$.
- (iv) $\|(1,0)\| = \|(1,0)\|_{\sim}$ and $\|(0,1)\| = \|(0,1)\|_{\sim}$.

Then

$$C_{NJ}^{(p)}((\mathbb{R}^2, \|\cdot\|)) = \beta^p, where \ \beta = \max\left\{\frac{\|(x,y)\|_{\sim}}{\|(x,y)\|} : (x,y) \in \mathbb{R}^2, (x,y) \neq (0,0)\right\}.$$

Proof. By $\|\cdot\| \le \|\cdot\|_{\sim} \le \beta \|\cdot\|$ and (i), we have

$$C_{NJ}^{(p)}((\mathbb{R}^{2}, \|\cdot\|)) = \sup \left\{ \frac{\|u+v\|^{p} + \|u-v\|^{p}}{2^{p-1}(\|u\|^{p} + \|v\|^{p})} : u, v \in \mathbb{R}^{2}, (u, v) \neq (0, 0) \right\}$$

$$\leq \beta^{p} \sup \left\{ \frac{\|u+v\|^{p}_{\sim} + \|u-v\|^{p}_{\sim}}{2^{p-1}(\|u\|^{p}_{\sim} + \|v\|^{p}_{\sim})} : u, v \in \mathbb{R}^{2}, (u, v) \neq (0, 0) \right\}$$

$$\leq \beta^{p}.$$

On the other hand, for any positive number ε , we can take $(x_0, y_0) \in \mathbb{R}^2$ such that $\frac{\|(x_0, y_0)\|_{\sim}}{\|(x_0, y_0)\|} > \beta - \varepsilon$. Thus by (ii),

$$C_{NJ}^{(p)}((\mathbb{R}^{2}, \|\cdot\|)) \geq \frac{\|(2x_{0}, 0)\|^{p} + \|(0, 2y_{0})\|^{p}}{2^{p-1}(\|(x_{0}, y_{0})\|^{p} + \|(x_{0}, -y_{0})\|^{p})}$$

$$= \frac{\|(x_{0}, 0)\|_{\sim}^{p} + \|(0, y_{0})\|_{\sim}^{p}}{\|(x_{0}, y_{0})\|_{\sim}^{p}} \frac{\|(x_{0}, y_{0})\|_{\sim}^{p}}{\|(x_{0}, y_{0})\|^{p}}$$

$$\geq (\beta - \varepsilon)^{p}.$$

Hence, $C_{NJ}^{(p)}((\mathbb{R}^2, \|\cdot\|)) = \beta^p$.

If $a > 1, a \ge b \ge 1$ and $a^{-p_1} + b^{-p_1} \le 1$, by taking $u = \left(\frac{1}{a}, \frac{1}{b}\right)$ and $v = \left(\frac{1}{a}, -\frac{1}{b}\right)$, then $C_{NJ}^{(p)}(\mathbb{R}^2_{a,b,p_1}) \ge \frac{\|u+v\|^p + \|u-v\|^p}{2^{p-1}(\|u\|^2 + \|v\|^2)} = 2.$

Thus, $C_{NJ}^{(p)}(\mathbb{R}^2_{a,b,p_1})=2$. Therefore, we only to consider the case $a^{-p_1}+b^{-p_1}>1$.

Lemma 2.2. Let
$$a > 1, a \ge b \ge 1$$
 and $p_1 \ge p \ge 1$ with $a^{-p_1} + b^{-p_1} > 1$. If $f(t) = \frac{(a^p t^p + b^p)^{\frac{1}{p}}}{(1 + t^{p_1})^{\frac{1}{p_1}}}$, $t_1 = (a^{p_1} - 1)^{-\frac{1}{p_1}}$, $t_2 = (\frac{a}{b})^{\frac{p}{p_1 - p}}$ and $t_3 = (b^{p_1} - 1)^{\frac{1}{p_1}}$, then

(i) f is non-decreasing on $(0, t_2)$ and is non-increasing on (t_2, ∞) . Hence f has the maximum at t_2 .

(ii) $f(t_3) \leq f(t_1)$.

(iii) If
$$b \le a(a^{p_1}-1)^{\frac{p_1-p}{pp_1}}$$
, then $t_3 \le t_1 \le t_2$ and

$$\max\{f(t): t_3 \le t \le t_1\} = f(t_1) = \left(1 + b^p(1 - a^{-p_1})^{\frac{p}{p_1}}\right)^{\frac{1}{p}}.$$

(iv) If
$$b \ge a(a^{p_1}-1)^{\frac{p_1-p}{pp_1}}$$
, then $t_3 \le t_2 \le t_1$ and

$$\max\{f(t): t_3 \le t \le t_1\} = f(t_2) = b \left(1 + \left(\frac{b}{a}\right)^{\frac{pp_1}{p-p_1}}\right)^{\frac{1}{p} - \frac{1}{p_1}}.$$

Proof. (i) Since $f'(t) = (a^p t^p + b^p)^{\frac{1}{p}-1} (1 + t^{p_1})^{-\frac{1}{p_1}-1} t^{p-1} [a^p - b^p t^{p_1-p}]$, we have (i).

(ii) It is easy to see that

$$f(t_1) = \left(1 + \left(\frac{b}{a}\right)^p (a^{p_1} - 1)^{\frac{p}{p_1}}\right)^{\frac{1}{p}}$$

and

$$f(t_3) = \left(1 + \left(\frac{a}{b}\right)^p (b^{p_1} - 1)^{\frac{p}{p_1}}\right)^{\frac{1}{p}}.$$

Hence $f(t_3) \leq f(t_1)$ if and only if $\frac{b}{a}(a^{p_1}-1)^{\frac{1}{p_1}} \geq \frac{a}{b}(b^{p_1}-1)^{\frac{1}{p_1}}$, that is $(b^{p_1}-a^{p_1})(a^{p_1}+b^{p_1}-a^{p_1}b^{p_1}) \leq 0$. Thus it follow from $a \geq b$ and $a^{-p_1}+b^{-p_1} > 1$.

(iii) Since $b \leq a(a^{p_1}-1)^{\frac{p_1-p}{pp_1}}$, we obtain $t_1 \leq t_2$. By $a^{-p_1}+b^{-p_1} > 1$, we can get $(a^{p_1}-1)(b^{p_1}-1)<1$, and this implies $t_3< t_1$. Thus it follows from (i) that (iii) is valid.

(iv) From $b \ge a(a^{p_1}-1)^{\frac{p_1-p}{pp_1}}$, we see that $t_1 \ge t_2$ and $a \ge b \ge a(a^{p_1}-1)^{\frac{p_1-p}{pp_1}}$. Thus, $b^{p_1}-1 \le a^{p_1}-1 \le 1$ and $t_3 \le 1 \le t_2 \le t_1$. Hence (iv) can also be obtained from (i).

Theorem 2.3. $a > 1, a \ge b \ge 1$ and $p_1 \ge p \ge 2$ with $a^{-p_1} + b^{-p_1} > 1$.

(i) If
$$b \le a(a^{p_1} - 1)^{\frac{p_1 - p}{pp_1}}$$
, then
$$C_{NJ}^{(p)}(\mathbb{R}^2_{a,b,p_1}) = 1 + b^p(1 - a^{-p_1})^{\frac{p}{p_1}}.$$
(2.1)

(ii) If
$$b \ge a(a^{p_1} - 1)^{\frac{p_1 - p}{pp_1}}$$
, then

$$C_{NJ}^{(p)}(\mathbb{R}_{a,b,p_1}^2) = b^p \left(1 + \left(\frac{b}{a}\right)^{\frac{pp_1}{p-p_1}} \right)^{1 - \frac{p}{p_1}}.$$
 (2.2)

Proof. We define the norm $\|\cdot\|_{\sim}$ on \mathbb{R}^2 by $\|(x,y)\|_{\sim} = \|(ax,by)\|_{p}$. By Clarkson's inequality, for any $u, v \in \mathbb{R}^2$, we have

$$||u+v||_{\sim}^p + ||u-v||_{\sim}^p \le 2^{p-1} (||u||_{\sim}^p + ||v||_{\sim}^p).$$

Also, $\|(x,y)\|_{\sim}^p = a^p |x|^p + b^p |y|^p = \|(x,0)\|_{\sim}^p + \|(0,y)\|_{\sim}^p$ for any $x,y \in \mathbb{R}$. It is clear that $||(x,y)|| \le ||(x,y)||_{\sim} \text{ for any } (x,y) \in \mathbb{R}^2 \text{ by } a \ge b \ge 1 \text{ and } p_1 \ge p \ge 1.$ $\text{Put } \beta = \max \left\{ \frac{||(x,y)||_{\sim}}{||(x,y)||_{\sim}} : (x,y) \in \mathbb{R}^2, (x,y) \ne (0,0) \right\}.$

Put
$$\beta = \max \left\{ \frac{\|(x,y)\|_{\sim}}{\|(x,y)\|} : (x,y) \in \mathbb{R}^2, (x,y) \neq (0,0) \right\}.$$

(i) If $b \leq a(a^{p_1}-1)^{\frac{p_1-p}{pp_1}}$, then we can show that $\beta = f(t_1)$.

In the case where x = 0 or y = 0, since $f(t_1) \ge 1$, we can assume that $x \ne 0$ and $y \ne 0$. Put $t = \frac{|x|}{|y|}$. We first consider the case ||(x,y)|| = a|x|. Since $a|x| \geq ||(x,y)||_{p_1}$, we have $t \ge (a^{p_1} - 1)^{-\frac{1}{p_1}} = t_1$. Hence

$$\frac{\|(x,y)\|_{\sim}}{\|(x,y)\|} = \frac{\|(ax,by)\|_p}{a|x|} = \|(1,\frac{b}{at})\|_p \le \|(1,\frac{b}{at_1})\|_p = f(t_1).$$

Next, we consider the case ||(x,y)|| = b|y|. Since $b|y| \ge ||(x,y)||_{p_1}$, we have $t \le ||(x,y)||_{p_1}$ $(b^{p_1}-1)^{\frac{1}{p_1}}=t_3$. Hence by Lemma 2.2

$$\frac{\|(x,y)\|_{\sim}}{\|(x,y)\|} = \frac{\|(ax,by)\|_p}{b|y|} = \|(\frac{at}{b},1)\|_p \le \|(\frac{at_3}{b},1)\|_p = f(t_3) \le f(t_1).$$

Finally we consider the case $\|(x,y)\| = \|(x,y)\|_{p_1}$. Since $\|(x,y)\|_{p_1} \ge a|x|$ and $\|(x,y)\|_{p_1} \ge b|y|$, it follows that $t_3 \le t \le t_1$. Then by Lemma 2.2, we also have

$$\frac{\|(x,y)\|_{\sim}}{\|(x,y)\|} = \frac{\|(ax,by)\|_p}{\|(x,y)\|_{p_1}} = f(t) \le f(t_1).$$

Thus, $\beta \leq f(t_1)$. Moreover, we have $\frac{\|(x,y)\|_{\sim}}{\|(x,y)\|} = f(t_1)$ for $(x,y) = (t_1,1)$. Hence $\beta = f(t_1)$ and (i) is valid by Lemma 2.1.

(ii) If $b \ge a(a^{p_1}-1)^{\frac{p_1-p}{pp_1}}$, similar to (i), then we can get $\beta=f(t_2)$. Hence (ii) is also valid by Lemma 2.1.

Remark 2.4. By taking p=2 and $p_1=p$ in Theorem 2.3, we can see that (2.1) and (2.2) can imply (1.1) and (1.2) respectively.

Next, we consider the case $p > p_1$.

Lemma 2.5. Let $a > 1, a \ge b \ge 1$ and $p \ge p_1 \ge 1$ with $a^{-p_1} + b^{-p_1} > 1$. If $f(t) = \frac{(a^{p_1 p_2} + b^p)^{\frac{1}{p_1}}}{(1 + t^{p_1})^{\frac{1}{p_1}}}, \ t_1 = (a^{p_1} - 1)^{-\frac{1}{p_1}}, t_2 = (\frac{a}{b})^{\frac{p}{p_1 - p}} \ and \ t_3 = (b^{p_1} - 1)^{\frac{1}{p_1}}, \ then$

(i) f is non-increasing on $(0,t_2)$ and is non-decreasing on (t_2,∞) . Hence f has the $minimum \ at \ t_2.$

(ii) $f(t_3) \leq f(t_1)$.

Proof. (i) Since $f'(t) = (a^p t^p + b^p)^{\frac{1}{p}-1} (1+t^{p_1})^{-\frac{1}{p_1}-1} t^{p_1-1} [a^p t^{p-p_1} - b^p]$, we have (i).

(ii) The same as the proof of (ii) in Lemma 2.2.

Theorem 2.6. $a > 1, a \ge b \ge 1, p \ge 2$ and $p \ge p_1 \ge 1$ with $a^{-p_1} + b^{-p_1} > 1$. If $a^{\frac{pp_1}{p_1-p}} + b^{\frac{pp_1}{p_1-p}} < 1$, then

$$C_{NJ}^{(p)}(\mathbb{R}^2_{a,b,p_1}) = 1 + b^p (1 - a^{-p_1})^{\frac{p}{p_1}}.$$
 (2.3)

Proof. We define the norm $\|\cdot\|_{\sim}$ on \mathbb{R}^2 by $\|(x,y)\|_{\sim} = \|(ax,by)\|_p$.

By Clarkson's inequality, for any $u, v \in \mathbb{R}^2$, we have

$$||u+v||_{\sim}^p + ||u-v||_{\sim}^p \le 2^{p-1}(||u||_{\sim}^p + ||v||_{\sim}^p).$$

Also, $\|(x,y)\|_{\infty}^p = a^p |x|^p + b^p |y|^p = \|(x,0)\|_{\infty}^p + \|(0,y)\|_{\infty}^p$ for any $x,y \in \mathbb{R}$.

By Hölder's inequality, we have

$$\|(x,y)\|_{p_1}^{p_1} = |ax|^{p_1}a^{-p_1} + +|by|^{p_1}b^{-p_1} \leq (|ax|^p + |by|^p)^{\frac{p_1}{p}}(a^{\frac{pp_1}{p_1-p}} + b^{\frac{pp_1}{p_1-p}})^{1-\frac{p_1}{p}},$$

which implies $\|(x,y)\| \le \|(x,y)\|_{\sim}$ for any $(x,y) \in \mathbb{R}^2$ by $a^{\frac{pp_1}{p_1-p}} + b^{\frac{pp_1}{p_1-p}} \le 1$. Put $\beta = \max\left\{\frac{\|(x,y)\|_{\sim}}{\|(x,y)\|} : (x,y) \in \mathbb{R}^2, (x,y) \ne (0,0)\right\}$.

Firstly, we show that $\beta \leq f(t_1)$.

In the case where x = 0 or y = 0, since $f(t_1) \ge 1$, we can assume that $x \ne 0$ and $y \ne 0$. Put $t = \frac{|x|}{|y|}$. We first consider the case ||(x,y)|| = a|x|. Since $a|x| \ge ||(x,y)||_{p_1}$, we have $t \ge (a^{p_1} - 1)^{-\frac{1}{p_1}} = t_1$. Hence

$$\frac{\|(x,y)\|_{\sim}}{\|(x,y)\|} = \frac{\|(ax,by)\|_p}{a|x|} = \|(1,\frac{b}{at})\|_p \le \|(1,\frac{b}{at_1})\|_p = f(t_1).$$

Next, we consider the case ||(x,y)||=b|y|. Since $b|y|\geq ||(x,y)||_{p_1}$, we have $t\leq (b^{p_1}-1)^{\frac{1}{p_1}}=t_3$. Hence by Lemma 2.5

$$\frac{\|(x,y)\|_{\sim}}{\|(x,y)\|} = \frac{\|(ax,by)\|_p}{b|y|} = \|(\frac{at}{b},1)\|_p \le \|(\frac{at_3}{b},1)\|_p = f(t_3) \le f(t_1).$$

Finally, we consider the case $\|(x,y)\| = \|(x,y)\|_{p_1}$. Since $\|(x,y)\|_{p_1} \ge a|x|$ and $\|(x,y)\|_{p_1} \ge b|y|$, it follows that $t_3 \le t \le t_1$. Then by Lemma 2.5, we also have

$$\frac{\|(x,y)\|_{\sim}}{\|(x,y)\|} = \frac{\|(ax,by)\|_p}{\|(x,y)\|_{p_1}} = f(t) \le f(t_1).$$

Thus, $\beta \leq f(t_1)$. Moreover, we have $\frac{\|(x,y)\|_{\sim}}{\|(x,y)\|} = f(t_1)$ for $(x,y) = (t_1,1)$. Hence $\beta = f(t_1)$ and (2.3) is valid by Lemma 2.1.

Remark 2.7. By taking p = 2 and $p_1 = p$ in Theorem 2.6, we can see that (2.3) can imply (1.3).

Author contributions. All the co-authors have contributed equally in all aspects of the preparation of this submission.

Conflict of interest statement. The authors declare that they have no known competing financial interests or personal relationships that could have appeared to influence the work reported in this paper.

Funding. This work was supported by the National Natural Science Foundation of China (Nos. 12471130; 12371139; 11771126).

Data availability. No data was used for the research described in the article.

References

- [1] J. Alonso, P. Martin and P. L. Papini, Wheeling around von Neumann-Jordan constant in Banach spaces, Studia Math. 188, 135–150, 2008.
- [2] J. A. Clarkson, The von Neumann-Jordan constant for the Lebesgue space, Ann. Math. 38, 114–115, 1937.
- [3] Y. Cui, W. Huang, H. Hudzik and R. Kaczmarek, Generalized von Neumann-Jordan constant and its relationship to the fixed point property, Fixed Point Theory Appl. 40, 1–11, 2015.
- [4] M. Kato, L. Maligranda and Y. Takahashi, On James and Jordan-von Neumann constant and the normal structure coefficient of Banach spaces, Studia Math. 144, 275–295, 2001.
- [5] H. Li, X. Yang and C. Yang, On (n, p)-th von Neumann-Jordan constants for Banach spaces, Math. Inequal. Appl., 27(3), 583-600, 2024.
- [6] Q. Liu and Y. Li, On a new geometric constant related to the Euler-Langrange type identity in Banach spaces, Mathematics. 116, 1–12, 2021.

- [7] Q. Liu, C. Zhou, M. Sarfraz and Y. Li, On new moduli related to the generalization of the Parallelogram law, Bull. Malays. Math. Sci. Soc. 45, 307–321, 2022.
- [8] K.-I Mitani, K.-S. Satio, On von Neuman-Jordan constant of generalized Banaś-Frączek spaces II, Linear Nonlinear Anal. 8, 217–223, 2022.
- [9] K.-I Mitani, K.-S. Satio and Y. Takahashi, On the von Neuman-Jordan constant of generalized Bana´s-Fraczek spaces, Linear Nonlinear Anal. 2, 311–316, 2016.
- [10] K. Naoto, K. S. Saito and K. I. Mitani, Extremal structure of the set of absolute norms on R² and the von Neumann-Jordan constant, J. Math. Anal. Appl. 370, 101–106, 2010.
- [11] F. Wang. On the James and von Neumann-Jordan constants in Banach spaces. Proc. Amer. Math. Soc. 138, 695–701, 2010.
- [12] C. Yang. Jordan-von Neumann constant for Bana´s-Fraczek space. Banach J. Math. Anal. 8, 185–192, 2014.
- [13] C. Yang and H. Li, An inequality between Jordan-von Neumann constant and James constant, Appl. Math. Lett. 23, 227–281, 2010.
- [14] C. Yang and F. Wang, The von Neumann-Jordan constant for a class of Day-James spaces, Mediterr. J. Math. 13, 1127–1133, 2016.
- [15] C. Yang and F. Wang, An extension of a simple inequality between von Neumann-Jordan and James constants in Banach spaces, Acta Mathematica Sinica Engl. Ser., 33, 1287–1296, 2017.
- [16] C. Yang and T. Wang, Generalized von Neumann-Jordan constant $C_{NJ}^{(p)}(X)$ for the regular octagon spaces, Math. Inequal. Appl. 20, 483–490, 2017.
- [17] C. Yang and X. Yang, On the James type constant and von Neumann-Jordan constant for a class of the Banas-Fraczek space, J. Math. Inequal. 10, 551–558, 2016.
- [18] X. Yang and C. Yang. An inequality between $L_{YJ}(\lambda, \mu, X)$ constant and generalized James Constant. Math. Inequal. Appl. 27, 571–581, 2024.
- [19] Z. Zuo and C. Tang, On James and Jordan-von Neumann type constants and normal structure in Banach spaces. Topol. Methods Nonlinear Anal. 49, 615–623, 2017.
- [20] Z. Zuo, L. Wang, Y. Zhao and Y. Wu. On the generalized von Neumann-Jordan type constant for some concrete Banach spaces. Math. Inequal. Appl. 24, 597–615, 2021.
- [21] Z. Zuo, Y. Huang and J. Wang, The generalized Gao's constant of absolute normalized norms in ℝ². Math. Inequal. Appl. 26, 109–129, 2023.